

(2/2)

Für den nach unten endlich besetzt an ch der
 15th kann generalisiertes 169 $\sum_{k=1}^n k^2$

Sch $\sum_{k=1}^n k^2 = \frac{n(n+1)(2n+1)}{6}$

B? $(k+1)^3 = k^3 + 3k^2 + 3k + 1 \Rightarrow (k+1)^3 - k^3 = 3k^2 + 3k + 1$

$\Rightarrow \frac{(n+1)^3 - 1^3}{3} = (n+1)^3 + n^3 + (n-1)^3 + \dots + 3^3 + 2^3 - (1^3 + (n-1)^3 + \dots + 2^3 + 1^3)$

$= \sum_{k=1}^n ((k+1)^3 - k^3) = \sum_{k=1}^n (3k^2 + 3k + 1) =$

$= 3 \sum_{k=1}^n k^2 + 3 \sum_{k=1}^n k + \sum_{k=1}^n 1 = 3 \sum_{k=1}^n k^2 + 3 \frac{n(n+1)}{2} + n$

$\therefore \sum_{k=1}^n k^2 = \frac{1}{3} \left((n+1)^3 - 1 - 3 \frac{n(n+1)}{2} - n \right) =$

$= \frac{1}{3} \left(n^3 + 3n^2 + 3n + 1 - 1 - n - \frac{3n(n+1)}{2} \right) =$

$= \frac{1}{3} \left(n^3 + \frac{3}{2}n^2 + \frac{1}{2}n \right) = \frac{n(n^2 + \frac{3}{2}n + \frac{1}{2})}{3} = \frac{n(2n^2 + 3n + 1)}{6} =$

$= \frac{n(n+1)(2n+1)}{6}$

Sch (Geometrische Summe)

$\sum_{k=0}^n x^k = \frac{x^{n+1} - 1}{x - 1} = \frac{1 - x^{n+1}}{1 - x}$

D! $S = \sum_{k=0}^n x^k = 1 + x + x^2 + \dots + x^{n-1} + x^n$
 $xS = x + x^2 + \dots + x^n + x^{n+1}$

$\therefore S - xS = (1-x)S = 1 + x + \dots + x^{n-1} + x^n - (x + x^2 + \dots + x^n + x^{n+1}) = 1 - x^{n+1}$